

### Customer Service Order

THIS SERVICE ORDER (“Service Order”), is executed and effective upon the date of the signature set forth in the signature block below (“Effective Date”) and is by and between Charter Communications Operating, LLC on behalf of those operating subsidiaries providing the Service(s) hereunder (“Spectrum”) and Customer (as shown below) and is governed by and subject to the Spectrum Enterprise Commercial Terms of Service posted to the Spectrum Enterprise website, <https://enterprise.spectrum.com/> (or successor url) or, if applicable, an existing services agreement mutually executed by the parties (each, as appropriate, a “Service Agreement”). Except as specifically modified herein, all other terms and conditions of the Service Agreement shall remain unamended and in full force and effect.

Account Executive: Steven Powley  
 Phone: 813-499-2077 ext:  
 Cell Phone: +1 8134377711  
 Email: steven.powley@charter.com

**Order # 12291333**

<b>Customer Information: Customer Code</b>		
<b>Business Name</b>	TOWN OF BELLEAIR	<b>Customer Type:</b>
<b>Billing Address</b>		
<b>Attention To:</b>	<b>Account Number</b>	
901 Ponce De Leon Blvd Belleair FL 33756		
<b>Billing Contact</b>	<b>Billing Contact Phone</b>	<b>Billing Contact Email Address</b>
<b>Authorized Contact</b>		
<b>Authorized Contact</b>	<b>Authorized Contact Phone</b>	<b>Authorized Contact Email Address</b>
Stefan Massol	(727) 588-3769	smassol@townofbelleair.net
<b>Technical Contact</b>		
<b>Technical Contact</b>	<b>Technical Contact Phone</b>	<b>Technical Contact Email Address</b>

<b>Trunk Service Order Information For 107 Belleair Pl Belleair FL 33756</b>					
<b>Current LEC</b>	<b>Current IXC</b>	<b>LEC BTN(S)</b>	<b>E-911 Location 1</b>	<b>E-911 Location 2</b>	<b>E-911 Location 3</b>
		727-588-3795			

<b>Trunk Service Order Information For</b> 1075 Ponce De Leon Blvd Clearwater FL 33756					
<b>Current LEC</b>	<b>Current IXC</b>	<b>LEC BTN(S)</b>	<b>E-911 Location 1</b>	<b>E-911 Location 2</b>	<b>E-911 Location 3</b>
		727-588-3795			

<b>Trunk Service Order Information For</b> 901 Ponce De Leon Blvd Belleair FL 33756					
<b>Current LEC</b>	<b>Current IXC</b>	<b>LEC BTN(S)</b>	<b>E-911 Location 1</b>	<b>E-911 Location 2</b>	<b>E-911 Location 3</b>
		727-588-3769			

<b>Trunk Service Order Information For</b> 918 Osceola Rd Belleair FL 33756					
<b>Current LEC</b>	<b>Current IXC</b>	<b>LEC BTN(S)</b>	<b>E-911 Location 1</b>	<b>E-911 Location 2</b>	<b>E-911 Location 3</b>
		727-518-3728			

<b>Fiber Internet and Ethernet Service Order Information For</b> 901 Ponce De Leon Blvd Belleair FL 33756			
<b>Site Name</b>	<b>Address Location</b>	<b>Location Type</b>	<b>Bandwidth</b>
	901 Ponce De Leon Blvd Belleair, FL 33756		

<b>New and Revised Services and Monthly Charges At</b> 107 Belleair Pl , Belleair FL 33756				
<b>Description</b>	<b>Quantity</b>	<b>Sales Price</b>	<b>Monthly Recurring Total</b>	<b>Contract Term</b>
Cisco 6851 Phone - Rental	2	\$1.70	\$3.40	7 Yr
Enterprise Hosted Voice Additional Voice Mail	1	\$1.00	\$1.00	7 Yr
Enterprise Hosted Voice Auto Attendant	1	\$0.00	\$0.00	7 Yr
Enterprise Hosted Voice Basic Feature Pack	1	\$17.85	\$17.85	7 Yr
Enterprise Hosted Voice Unlimited Usage	1	\$0.00	\$0.00	7 Yr
Unified Communications Connect Skype (Incl. Anywhere Connect Bus-Skype/Unity Dekstop Pro)	1	\$20.40	\$20.40	7 Yr
<b>*Total</b>			<b>\$42.65</b>	
*Prices do not include taxes and fees.				

New and Revised Services and Monthly Charges At 1075 Ponce De Leon Blvd , Clearwater FL 33756				
Description	Quantity	Sales Price	Monthly Recurring Total	Contract Term
Cisco 6851 Phone - Rental	10	\$1.70	\$17.00	7 Yr
Enterprise Hosted Voice Additional Voice Mail	1	\$1.00	\$1.00	7 Yr
Enterprise Hosted Voice Auto Attendant	1	\$0.00	\$0.00	7 Yr
Enterprise Hosted Voice Basic Feature Pack	6	\$17.85	\$107.10	7 Yr
Unified Communications Connect Skype (Incl. Anywhere Connect Bus-Skype/Unity Dekstop Pro)	4	\$20.40	\$81.60	7 Yr
<b>*Total</b>			<b>\$206.70</b>	
*Prices do not include taxes and fees.				

New and Revised Services and Monthly Charges At 901 Ponce De Leon Blvd , Belleair FL 33756				
Description	Quantity	Sales Price	Monthly Recurring Total	Contract Term
Cisco 6851 Phone - Rental	22	\$1.70	\$37.40	7 Yr
Enterprise Hosted Voice Additional Voice Mail	1	\$1.00	\$1.00	7 Yr
Enterprise Hosted Voice Auto Attendant	1	\$0.00	\$0.00	7 Yr
Enterprise Hosted Voice Basic Feature Pack	4	\$17.85	\$71.40	7 Yr
Enterprise Hosted Voice Unlimited Usage	1	\$0.00	\$0.00	7 Yr
Fiber Internet 100Mbps	1	\$619.00	\$619.00	60 Months
Unified Communications Connect Plus Skype (Incl. Anywhere Connect Prem-Skype/Unity Desktop Pro)	5	\$23.80	\$119.00	7 Yr
Unified Communications Connect Skype (Incl. Anywhere Connect Bus-Skype/Unity Dekstop Pro)	13	\$20.40	\$265.20	7 Yr
Up to 5 Static IP Addresses	1	\$0.00	\$0.00	60 Months
<b>*Total</b>			<b>\$1,113.00</b>	
*Prices do not include taxes and fees.				

New and Revised Services and Monthly Charges At 918 Osceola Rd , Belleair FL 33756				
Description	Quantity	Sales Price	Monthly Recurring Total	Contract Term
Cisco 6851 Phone - Rental	5	\$1.70	\$8.50	7 Yr
Enterprise Hosted Voice Additional Voice Mail	1	\$0.00	\$0.00	7 Yr
Enterprise Hosted Voice Auto Attendant	1	\$0.00	\$0.00	7 Yr
Enterprise Hosted Voice Unlimited Usage	1	\$0.00	\$0.00	7 Yr
Unified Communications Connect Plus Skype (Incl. Anywhere Connect Prem-Skype/Unity Desktop Pro)	1	\$23.80	\$23.80	7 Yr
Unified Communications Connect Skype (Incl. Anywhere Connect Bus-Skype/Unity Dekstop Pro)	4	\$20.40	\$81.60	7 Yr
<b>*Total</b>			<b>\$113.90</b>	
*Prices do not include taxes and fees.				

One Time fees At 918 Osceola Rd , Belleair FL 33756				
Description	Quantity	Sales Price	Total	
Installation charge	1	\$0.00	\$0.00	
<b>Total</b>			<b>\$0.00</b>	
*Prices do not include taxes and fees.				

<b>One Time fees At 107 Belleair Pl , Belleair FL 33756</b>			
<b>Description</b>	<b>Quantity</b>	<b>Sales Price</b>	<b>Total</b>
Installation charge	1	\$0.00	\$0.00
<b>Total</b>			<b>\$0.00</b>
*Prices do not include taxes and fees.			

<b>One Time fees At 901 Ponce De Leon Blvd , Belleair FL 33756</b>			
<b>Description</b>	<b>Quantity</b>	<b>Sales Price</b>	<b>Total</b>
FIA Installation	1	\$0.00	\$0.00
Installation charge	1	\$0.00	\$0.00
<b>Total</b>			<b>\$0.00</b>
*Prices do not include taxes and fees.			

<b>One Time fees At 1075 Ponce De Leon Blvd , Clearwater FL 33756</b>			
<b>Description</b>	<b>Quantity</b>	<b>Sales Price</b>	<b>Total</b>
Installation charge	1	\$0.00	\$0.00
<b>Total</b>			<b>\$0.00</b>
*Prices do not include taxes and fees.			

**Special Terms**

**Electronic Signature Disclosure**

By signing and accepting below you are acknowledging that you have read and agree to the terms and conditions outlined in this document.

\_\_\_\_\_  
**Authorized Signature for Customer**

\_\_\_\_\_  
**Printed Name and Title**

\_\_\_\_\_  
**Date Signed**

